okt toone” A opile T | e e S A

Lecture 28 Q/éj/w //‘Zﬁ/% /ﬂdw M [ gu_é@__\ &@ géiﬂ_ /§ul-§ﬂ%

- Subspace iteration: get all the [2), ( \ 4— - ‘
eigenv;)lues&vectorsgatonce! :/0% P >£fo); /Q/Vé\ 6;;/\’:41__ Glt/\a‘ﬂﬂ )(( - 6?/ — Q/é = /4/{‘ O(AB) /éﬂ///é,@ —% x4+ % éZ Y e Jo
rihnerieirel L oe @ 0 Lot A=A | o Goses St | Jrty) g S B o F o0 e |7
| =0 b =04, qéf c= L qﬁa/ b=l X:f/[ﬂ/é) ) /(‘/ e %@/ O 2 /4{ Lo, Sgom 504/?@/ ()
OUd k)

Xov oy
o < X e -
O)( 4;7/62@@

- We can make this more efficient b o . LY
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Shift and invert.
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use the Lanczos method to get good estimates.
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Matlab and Julia.)
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